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LAW
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all the questions.

1. Consider the following Judgements of the Supreme Court which dealt with the
appointment and transfer of Judges of the Supreme Court and High Courts :
1. S. P. Gupta Vs. Union of India
2. Sankal Chand Vs. Union of India
3.  President’s Special Reference No. 1
4. Supreme Court Advocate on Record Association Vs. Union of India
Which one of the following is correct chronological order in which the above
judgements were delivered ?
A 1 2 3 4
@) 2 1 3 4
<© 2 1 4 3
@ 1 2 4 3

2. Which one of the following is the correct statement ?
“Full faith and credit” clause of the Constitution does not apply to
(A) Public records (B) Judicial proceedings
(C) Acts of Corporations (D) Public acts

3. In which of the following case the Supreme Court held that allowing medical
examination of a woman to prove her virginity, amounts to violation of her right to
privacy, guaranteed under Article 21 of the Constitution ?

(A) Surjeet Singh Thind Vs. Kanwaljit Kaur
(B) Phillipa Anne Vs. State of Tamilnadu State
(C) Hameeda Sarfaraj Vs. M. S. Kashekar

(D) Kavita Vs. State of Maharashtra

4. By which Constitutional Amendment, Article 21-A providing for right to education was
inserted in the Constitution of India ?
(A) The Constitution [Eighty Third Amendment] Act
(B) The Constitution [Eighty Sixth Amendment] Act
(C) The Constitution [Ninetieth Amendment] Act
(D) The Constitution [Ninety Second Amendment] Act

5. Joint-session of the Parliament was summoned by the President of India to pass
(A) Dowry Prohibition Act
(B) Banking Service Commission Act
(C) POTA
(D) All the above Act

6. Justice Verma’s Committee Report relates to
(A) Effectuation of Fundamental Duties
(B) Duty to vote in Election
(C) Freedom of Religion
(D) National Judicial Commission



fafa

AT - 11
A : TH TRTT H U (50) Tg-Toshed i Ue € | Ve U9 o &1 (2) 3Tk & | Wl IR h IR |

1. S<uaH e o FEErEd FoE ) TR s | 3 g STeas e e Se et
o AT ot ot Te SFIRT o [ H &
1. Uq. Ot T g9 9Ra 99
2. Hihel T% I YR §H
3. rsguid o et fAser e A 1
4. I HE TSAHET 3T Rele TNTEEe sH SR 699
Frfetfiad & @ 1 91 o8 W&l FHTeTshH 9T €, foTe Suied o f5d e & 2
A 1 2 3 4
) 2 1 3 4
< 21 4 3
) 1 2 4 3

2. TrAfciad & 9@ % 91 Uk ud Tel & ?
Hferer 7 g fovaT R TR W AN Rl B e
(A) i feiEl W (B) =taes sraedl W
(C) i & FEr | (D) i AT R

3. Tefefed 9 9 g oe 5 Seuaw =@ 3 38 foieed foar i ue At i siadar st fag
A % oI STeRT Fafsheddir TRIeToT e, Wiaem & ST 21 & ST WS Tl & SR
T SATTSHATT AT ST ?
(A) TSt g Tere ST shaetsiid i
(B) TRfcTdT 37 - AfHerTg 59
(C) HIT TIHST FTH TH.UE. FHIHT
(D) wiadT T HeRTE T

4. T HorTe GO FRT ST 21-5, ST 97671 T ST 3T €, R o Wiae= | Sirer m/ ?
(A) dfaye (fafaat gemee) stfuftaa
(B) dferam (feantasit geme) sttafam
(C) Hfaam (F=vat Teie) STtafTam
(D) e (STeat Geie) T

5. 9RA % AT §RT HEE T G-I TR [T T o
(A) <& ufasy st st (B)  SiohehRI W T ST
(C) dret (D) 3uded et afufaet st wiRke s o ferg

6.  =THI SHET FHHI i TS YT €
(A) T e o TR &
(B) 9@ H diC T & A o
(C) «fhreh Tczrar 9@
(D) T =TT SET H




7. By which Constitutional Amendment, Article 51-A(K) which provides for the eleventh
duty of a citizen was added ?
(A) The Constitution [Ninety-Third Amendment] Act
(B) The Constitution [Ninety-First Amendment] Act
(C) The Constitution [Eighty Sixth Amendment] Act
(D) The Constitution [Eighty Fourth Amendment] Act

8.  Who submitted the Report of the “National Commission to Review the working of the
Constitution” ?

(A) Justice B. P. Jeevan Reddy (B) Justice A. S. Anand

(C) Justice R. S. Sarkaria (D) Justice M. N. Venkatachalliah
9.  Who has first coined the term ‘Legal theory’ ?

(A) Kelsen (B) W. Friedman

(C) Bentham (D) Roscoe Pound
10. Who propounded the ‘Utilitarian theory’ ?

(A) Kelsen (B) Henry Maine

(C) Bentham (D) Julius Stone

11. In which of the following cases the jurisprudential basis of the principle to award
compensation for violating Human Rights has been laid down by the Supreme Court ?
(A) Konda Reddy Vs. State
(B) Ratlam Municipality Vs. Verdhichand
(C) Visakha Vs. State of Rajasthan
(D) Nilabhati Behra Vs. State of Orissa

12. Rights and duties are

(A) Postulates (B) Correlatives
(C) Opposites (D) Parallels
13. Match the following :
List -1 List - II
(I) Retributive theory 1. Public Interest Litigation
(II) Immemorial Antiquity 2.  Punishment
(III) Ground norm 3.  Custom
(IV) Locus Standi 4.  Hans Kelson

Codes :
DO dy dn av)

A 2 4 3 1

@) 1 3 4 2

< 2 3 4 1

D) 3 4 1 2

14. ‘Law must be changed in a manner to get pleasure and to avoid painful change with
social circumstances’ is the contribution of

(A) Historical theory (B) Sociological theory
(C) Anthropological theory (D) Analytical theory



7. Giaue & forg GeleE 51T 3R 51- (2) ST AR o foTq TIRea! e Waei—e i €,
ST T ?
(A) Hiowe (fRmsaT geee) stfataa
(B) Wfoum (samreer T9meH) i
(C) fere (Teantat Gemem) attafTaw
(D) gfer (Srifeert detee) situfem

8. U WU HRIHIUT GHIET STRNT” i I T foh TRl foham 2

(A) —rmfd . o, stee &t (B) —IRMId U TE. 3=

(C) —I=Mfd 3R, TF. TR (D) —IEEfq Uy, T, dehedeeidn
9.,  “TNTeT fRRI” U i TG aTed ol AT &Y |

(A) e (B) == WigtA

(C) =um (D) I URTE
10. FrefereRam foadr =1 ufqures ®A & 2

(A) e (B) &R

(C) serm (D) SfferE =

11. T=fated | 9 fvd ame 9§ Soady =m&rer 3§ AHEIhR & Seea & ol efqafd o fagid 1
fafermeie aifuere foar & 2

(A) el T M T (B) YA TTRUITAHT SHTH eiieig

(C) Taemar T T T (D) FieTEEt SRl S ST A5
12. 3R SR Feeg FE ?

(A) R T (B) TWe-gsw (C) R fere (D) THAR
13. F=TeAREd 1 e e

et - 1 i |

(I) wfceTaTeTe fagid 1. Sfed gepger

(I) EROTIT qRTeTTS 2. TUg

(I11) Tt =~ 3. fg-Rars

(IV) g+ STH 1 1R 4. TWHeEA

w2

(O dn dm (av)

A 2 4 3 1

B) 1 3 4 2

€ 2 3 4 1

D 3 4 1 2

14. ‘fata o 33 Afq @ uRec e eTevas ¢ ST Qrtisteh aRfefaar o |1 TE=Tar T s aell
TrETeh ek Ter 1 THER & I’
(A) Ui fasia (B) THRTEE fagid
(C) Jasmteh fagic (D) forgcivonerss fagia




15.

16.

17.

18.

19.

20.

21.

22,

23.

The theme of the 60™ Anniversary celebrations of the Universal Declaration of Human
Rights, 1948 is

(A) Human Rights for all. (B) All Human Rights for all.
(C) Justice and dignity for all. (D) Human Rights for Human Dignity
Principal modes of peaceful settlement of disputes are
(A) S B) 6
© 4 D) 3
Who said “International Law is the vanishing point of jurisprudence” ?
(A) Austin (B) Holland
(C) Kelson (D) Bentham
The era of law making treaties began with
(A) Treaty of Vienna (B) Treaty of Versailles
(C) Kellogg Briard Act (D) Treaty of Westphalia
The Arrantzazu Mendi case deals with
(A) Human Rights (B) Recognition
(C) Nature of International Law (D) Peaceful settlement of disputes
Match the following :
List -1 List - 11

() Paquete Habana Case 1. South West Africa Case

(I) Dumparton Oaks Conference 2. Text Book Writers

(III) Vienna Declaration, 1993 3. United Nations

(IV) Custom 4. Human Rights

Codes :
(O dp n av)
A 2 3 4 1

B 3 4 2 1
<o 4 3 1 2
) 4 3 2 1

Where a Hindu Male and a Hindu Female contract their Marriage under the Special
Marriages Act 1954, Hindu Personal Law

(A) Applies to such marriage (B) Does not apply

(C) Applies with some modifications (D) Applies with the Indian Contract Act

Abortion of child by wife without the consent of the husband is a ground for
(A) Nullity of marriage (B) Judicial separation
(C) Divorce (D) None of the above

‘A’ marries ‘B’, the widow of his elder brother. The marriage is
(A) wvalid (B) void
(C) voidable (D) None of the above



15.

16.

17.

18.

19.

20.

21.

22,

23.

TSR QIR SISOT-T5 1948 <l 608 STeicit whi fersar-are &

(A) it o foTu AR (B) @it o foTu T et
(C) @it o fetu =mr e TR (D) HE TRHT & [0 AR
forams & wnifagut faer i fohat e fafet € 2
(A) 5 (B) 6 ) 4 (D) 3
“TTsEr Tafe fafuemmet 1 & fog @ - I8 Tohent e & 2
(A) st (B) @fie (C) wHoga (D) sy
faty-fmroT Teft o 7T o1 STReY fohees | gaT ?
(A) femT et gty (B) oo i |y
(C)  ehetf forde Tweiten (D)  arehferar st |
3CASTS] HeTE A 1 Hag T 59 &
(A) HHETFHR (B) w@=em
(C) iR Tty =l gehid (D) foagi 1 wrifagot FHuert
Tre=Aferfiae =t e Y
gt - 1 gt - 1
(I) U5 & e 1. ISY AL TR HF
(I) = 37T Hithd 2. UE-IKTH G
(IIT) fort fearemee, 1993 3. SgwUE
1v) 4. AHETYHR
aﬁg.

.(I) dan (m av)
A 2 3 4 1

B) 3 4 2 1
€ 4 3 1 2
D 4 3 2 1

T U fog o9 SR U g, Hiewn fawie fodme Sfufem 1954 o ST=hia o 9@ i diaar
o & i g, At fafa -

(A) TH famE WAR & & | (B) T TEIEIE |

(C) %o Ui & T AN eielt & | (D) R wferT sifufam & qr A el € |

IR YT ! FEHId o SR THITT Yot ST Shr 77 € o I8 TR &I

(A) ToamE =1 Ereor (B) ek gererneor
(C) foam-forese (D) W H F HE Tel
‘37 U T 9IS i faen & @ foreme war € | 98 foeme

(A) fafaam=ag (B) 3I=E I

(C) IF=eRoig | (D) T A HE R |



24. A Muslim woman observising iddat period marries with another man. The marriage is
(A) Sahih (B) Batil
(C) Fasid (D) None of the above

25. Inwhich of the following case, the court held that “Triple divorce’ is not a Valid Talaq” ?
(A) Ziauddin Vs. Anwari Begum
(B) Mohammad Ahmad Khan Vs. Shah Bano
(C) Bai Tahira V. Ali Hussain
(D) None of the above

26. A marriage under Muslim Law between persons with Fosterage relationship is

(A) Sahih (B) Batil
(C) Fasid (D) None of the above
27. Arrange the sequence of the following events in which they occur in a contract, using
the code
(i) Communication of offer (i) Invitation to offer
(iii) Fraud (iv) Damages
Codes :

(A) (i) (1) (iii)  (iv)
B) ® (i) i) ()
© @Gv) @@ i1 (1)
D) Gv) ) G @

28. Find correct explanation from following assertion and reason from code.
Assertion (A) : Damages must be reasonable for breach of a contract.
Reason (R) : Because reasonable damages are agreed upon in a contract.
Code :

(A) Assertion (A) and Reason (R) are right.

(B) Assertion (A) and Reason are (R) wrong.
(C) Assertion (A) is right, Reason (R) is wrong.
(D) Assertion (A) is wrong, Reason (R) is right.

29. Frustration of contract is provided by which Section of the Indian Contact Act ?
(A) 73 (B) 70 © 2@ (D) 56

30. Some, all or none of the following statements are right. Answer using the code.
(i) A minor is liable for breach of a contract to which he is a party.
(i) A minor is liable to pay for necessaries for his spouse.
(ii1) Supply of necessaries to a minor is a contract.
(iv) Necessaries supplied to a minor need not be according to his station in life, for the
supplier to claim damages.

Codes :
(A) All statements are right. (B) All statements are wrong.
(C) Only statement (ii) is right. (D) Only statement (ii) is wrong.

31. Promissory estoppel against Government agencies is decided in
(A) Tweedle Vs. Atkinson, 4L.T468
(B) Dutton Vs. Poole, 83LR523
(C) Delhi Cloth and General Mills Ltd. Vs. Union of India, AIR 1987 SC 2414
(D) Kedar Nath Vs. Gorie Mohd., ILR (1886) 14 Col. 64




24,

25.

26.

27.

28.

29.

30.

31.

R et T2 o IR ol TER STRH § {oame X ot € | 9% forame

(A) fafmr=ae | (B) AL

(C) =g e | (D) 79 9 FE T |

T 7 @ for =18 & =reTerd = wiawiise foham € o “di demmen oty A Tei 8 2
(A) TSRTSEE 99 SeRt S (B) HEwE 3TEHT Wi S Sl
(C) T AR S 37l ge (D) =78 Q@ I TEl

et fafy & SaR o =it & s foare gm

(A) fafr= (B) =

(C) vt (D) = &

HIT T TN X §U TN HeATS i 36 3hH H AT e 519 38 H of T dioRT §
Hied B € :
(1)  o%&Tel =l S (i)  o%Tel 1 30T

(111) HIC (iv) Teamr

(A) (i) (1) (i)  (iv)

B) ® i) (i) (iv)

©) @Gv) (i) (i) (i)

D) @Gv) @) G) 1)

Ffetfad 21fiyerer T ae o 3TYR TR e § ¥ Fel TR I

AMIHYT (A) : T FIAT i T FA o TI0 TR ot STFamd: Jfeee e =y |
& (R) : TR WfoRT § gfdrerer qeRarT o foTd Tenfa e el € |

H :

(A) atfiere (A) e (R)®WEiE 1 (B)  31fuere (A) e (R) Tod € |
(C) atfivehe (A) Wt g, @b (R) T & | (D) 31fehe (A) Tetd &, @k (R) TéT e |

ARG GiereT 2Affrae i ford Ry o e ol fortherd & IR | urer= & 2
(A) 73 (B) 70 €) 2(d) (D) 56

e Fuat § & 5o a1 IR T € a1 g off T T & | e H ST A gU ST ST

(i) fordt Gfa=T 1 U YeTehR €11 W Ueh Adlieteh sAfead W ot HierT-+1 1 s el & |

(ii) T TR WX 379/ 37q) Ufc/deett b ST % YR ol I BT & |

(iii) W TArTcTeh i TR i Jid T FfRT |

(iv) TS URTRR R T T T I H o foIT, Teh ATSeT i Il ot TTE Tewgehend
NI SHb STHo-TATeh el ot & Tehell € |

@‘d‘ :
(A) TRFTEE | (B) TR FHIT TR |
(C) o U (ii) &€ | (D) et e (ii) T € |

TR ATTFOT o Toreg, ae-Tereiey =t ot fohaw et € 2

(A) Toee s wefhem, 4LT468

(B) e a1 I, 83LR523

(C) oot oAty UUs SR (oW foiies s R @9, AIR 1987 SC 2414
(D) HERAT A 7RI HeHR 37T UeT 7R (1886) 14 Col. 64

D-5809 9 Paper-11



32,

33.

34.

35.

36.

37.

38.

Which one of the following statements is right ?

(A) Two or more persons are said to consent when they agree upon some thing in
some sense.

(B) Two or more persons are said to consent when they agree upon the same thing in
the same sense.

(C) Two or more persons are said to enter into a contract when they agree upon the
same thing in the same sense.

(D) Two or more persons are said to enter a quasi contract when they agree upon the
same thing in the same sense.

If a person enters voluntarily into a sports event and receives grave injury, he has
(A) aclaim in torts for medical expenses though not for a loss of income.

(B) aclaim in torts for loss of earning capacity.

(C) no claim in torts because the injury was not intentionally caused.

(D) no claim in torts because of the principle volenti non fit injuria.

‘Qui facit per alium facit perse’ establishes the
(A) Liability under the Indian Penal Code
(B) Liability under the law of torts

(C) Vicarious liability

(D) Liability under the Indian Contract Act

The rule of Absolute Liability was first laid down by
(A) Lord Atkin in 1635 (B) Justice Blackburn in 1868
(C) Winfield in 1765 (D) Chief Justice Holt in 1868

Res ipsa Loquitur is

(A) weapon of defence

(B) weapon of offence

(C) adefence of some factor which was beyond the control of the person who caused
injury.

(D) a dangerous weapon

If A gives lift in his car to B upto a certain place and on the way due to negligence of A

an accident is caused. A has

(A) no responsibility towards B.

(B) no legal duty to take care of B’s safety.

(C) alegal duty to take care of B also and is liable for compensation.

(D) All of the above

For an action of nuisance defendant can put up the following defence.

I.  The place is suitable for the purpose.

II. It is for the benefit of the residents of the locality.

III. It is done under statutory authority.

IV. Plaintiff has consented to the act.

Of the above statement

(A) 1, II and III are correct. (B) 1II, III and IV are correct.
(C) I IIand]IV are correct. (D) I and IV are correct.
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36.

37.

38.

frfefad o & S a1 o T T ?

(A) ma%maﬁi 31feh =afer fohdt oI W foRdlt 319 § TWedd &id & of 39 SHh! Wertd AT
Sl @ |

(B) U—lﬁrgtﬁﬁﬁ 31 =fed THH a1 W T 219 H WeHd eid § df 39 IR FeHtd q=
SAre |

(C) mgmﬁ@maﬁﬁwaﬁwwaﬁﬁwﬁﬁ%aﬁﬁmaﬁ@%mw
SArs |

(D) ST S AT S 3TTeeh AT THH ST R I 372 H Gedd &id & df 39 3 sirg 31 diagT
HATSATE |

3R hIE AN WresT  TeTehs UIAATdT H T oIl € 3R 3¥ 7R =i Ugeed & af 9

(A) 3TIF H Tafercqn @ 1 e R Tl & 7 i 3T H g THAH 7 |

(B) M i &THAT § §U BT I 3Thed & e I1aT e Thal § |

(C) 3T9FHcT | g T &l X ehell ik T ST R HIRA el i T8 o |

(D) WeAld 53 T Pl § &11d Tel & o FAgT= o PHROT 3UHeT H g I el L Tebell |

“Fell HiHE T TATH Hige Wl fog e
(A) YR 30U Hiear & 3T FMiae
(B) 31aghca fafy 3 1efie S1forcet

(C) wfamfues gifdes

(D) YR GiosT Tufam & 37 qTiaea

e &3fet S e Femer wiqie foar

(A) 1635 T WS T gRT (B) 1868 T ~THINT seicha gRT
(C) 1765 # faies g0 (D) 1868 W & =TTV &lo2 §RT
(A) = H EER

(B) el &I BN

(C) =& 39 AT &l = & Tk HROT Aie wget o uRfefaar Sqent ug= o amex of
(D) U = g

‘A’ T B’ i 310 R § Uk T % o gud § e ok T § A’ Y ARG H a5t §
ISR TE | ‘A’ T

(A) ‘B’ % Ui e Serecel el & |

(B) B’ o {R&T UG AT IHHT faifereh e el & |

(C) ‘B’ ot GR&T UG S h1 foifersh JMMaeel 3R &STT 3TaT e T I § |

(D) SR T

SU-ATT i G § Uiqaa] FHeieiad s s STET T Tl § :

L e e & ol aaifea &

II. T o 3o o @i & ®Es & o § |

1. T 7z fafues arfusr o ez fpar T & |

IV. T a3 @ & o geafa o |

ST FITH G
(A) LT aRIITEE | (B) I III 3R IV @&t & |
(C) LIIARIV e | (D) I ARIVEEE |



39.

40.

41.

42.

43.

44.

Which of the following is the offence which is punishable in four stages ?
(A) Robbery (B) Dacoity
(C) Murder (D) Rape

‘a’, ‘b’ and ‘c’ are joint owners of some property. ‘a’ removes the property.
(A) ‘a’ is not guilty of theft as property belongs to him.

(B) ‘a’ is guilty of theft as he is only a joint owner.

(C) ‘a’ is guilty of criminal misappropriation.

(D) ‘a’is guilty of breach of trust.

Which of the following statement is correct ?

(A) Sec. 34 of .P.C. is only a rule of evidence.

(B) Sec. 34 of .P.C. does not create a substantive offence.
(C) Both (A) and (B) are correct.

(D) None of these.

A instigates B to kidnap son of Z. B instigates C to do so and C kidnaps son of Z.
(A) Only B is guilty of abetting C.

(B) Only A is guilty of abetment.

(C) Both A and B are guilty of abetment.

(D) None of these

Assertion (A): X and Y had independently entertained the idea to kill Z.
Accordingly, each separately inflicts wounds on Z. Z dies. X and Y
can be tried jointly.

Reason (R) : Two or more persons can be tried jointly if the act, resulting in an
offence, is done in furtherance of a common intention.

Select your answer using the codes given below :

Codes :

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not a correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

‘Y’ picks ‘X’s pocket. Next day, ‘X’ while buying paan near his office finds ‘Y’ paying

money from his (X’s) purse. ‘X’ catches hold of ‘Y’ and tries to take back his purse.

Y’ resists. ‘X’ twists ‘Y’s’ arm with such force that it is broken. ‘X’ is charged with

causing hurt to ‘Y. In his defence ‘X’ can

(A) say that he was acting under right of private defence of property.

(B) not raise the plea of right of private defence since he had time to seek the help of
public authorities.

(C) say that his right of private defence revived as soon as he saw Y with his purse.

(D) say that he did not use more force than was required.
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Given below are two statements. One is labelled as Assertion (A) and other is labelled

as Reason (R). Select correct code combination.

Assertion (A) : Physical Research Laboratory, Ahmedabad was held not to be an
‘industry’ by the Supreme Court.

Reason (R) : Since it is carrying on research not for the benefit of self. Moreover, it
is not engaged in commercial activities.

Codes :

(A) (A)is correct, but (R) is wrong. (B) Both (A) and (R) are wrong.

(C) (A)is wrong, but (R) is correct. (D) Both (A) and (R) are correct.

Select correct code combination relating to “Closure”.

(a) Employment relationship severed.

(b) Suspension of Employment relationship.

(c) End of bargaining.

(d) To compel workmen to accept terms and conditions in the course of bargaining.
(e) Permanent closing down of employer’s business.

(f) Deliberate temporary closing of a place of employment.

(g) Notin consequence of an industrial dispute.

Codes :
(A) (a),(c), (e) and (g) (B) (b), (d), () and (g)
(C) (0, (e), (f) and (g) (D) (b), (c), () and (f)

Which one of the following is not an ‘Industry’ ?

(A) Forest Department of State

(B) Indian Red Cross Society

(C) Federation of Indian Chamber of Commerce & Industries
(D) Khadi and Village Industries Board

Which of the following do not relate to “industrial dispute” ?
(A) Dispute or difference connected with employment of
(B) Dispute or difference connected with non-employment of

(C) Dispute or difference connected with the terms of employment or with the
conditions of labour.

(D) Dispute or difference connected with the election of a trade union.

A certificate of registration of a trade union is
(A) Rebuttable evidence (B) Irrebuttable evidence
(C) Conclusive evidence (D) None of the above

Which of the following is related to “settlement” ?
(A) Strike (B) Lock-out
(C) Retrenchment (D) Conciliation
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